1. Under the Indian Constitution, 4. Constitutional government means

. concentration of wealth violates .
(a) a representative government of
a nation with federal structure

(a) the Right to Equality
(b) a government whose Head enjoys
inal
(b) the Directive Principles of State Cat o
Policy (c) a government whose Head enjoys
' real powers

(d) a government limited by the terms

(c) the Right to Freedom
of the Constitution

(d) the Concept of Welfare
5. With reference to India, the terms

‘Halbi, Ho and Kui’ pertain to

2. What is the position of the Right to (a) dance forms of Northwest India

Property in India? (b) musical instruments
-historic cave paintings
(a) Legal right available to citizens only 1c)Repre P &
(d) tribal languages
(b) Legal right available to any person
6. Consider the following statements in

respect of Bharat Ratna and Padma

() Fundamental Right available to
' Awards :

citizens only
1. Bharat Ratna and Padma Awards

are titles under the Article 18(1) of
‘the Constitution of India.

2. Padma Awards, which were
instituted in the year 1954, were
suspended only once.

(d) Neither Fundamental Right nor
legal right

3. What was the exact constitutional status
of India on 26th January, 19507 3. The number of Bharat Ratna
Awards is restricted to a maximum

of five in a particular year.

(a) A Democratic Republic
Which of the above statements are

(b) A Sovereign Democratic Republic not correct?

() A Sovereign Secular Democratic (a) 1 and 2 only

Republic
(b) 2 and 3 only
(d) A Sovereign Socialist Secular (c) 1 and 3 only
D tic R i
emocratic Republic d 1,2 and 3
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the following stateme
er

| t1: .ons  Capital
Statemen : Nations
The UMICE o nd (UNCDF) and

oundation have

ently recognized Hyderabad as
rec

9020 Tree City ©

2:
Statelg;zr;trabad was selected for the

recognition for a year f°“°W‘f‘ngt;it:;
commitment to grow and mai
the urban forests. . .

Which one of the following is correct 1n

respect of the above statements?

(a) Both Statement 1 and Statern.ent 2
are correct and Statement 2 is the
correct explanation for Statement 1

(b) Both Statement 1 and Statement .2
are correct but Statement 2 1is
not the correct explanation for
Statement 1

() Statement 1 is correct but
Statement 2 is not correct

(d) Statement 1 is not correct but
Statement 2 is correct

8. Consider the following statements in

respect of the Laureus World Sports

Award which was instituted in the
year 2000 :

1. American golfer Tiger Woods was
the first winner of this award.

The award was received mostly by
‘Formula One’ players so far.
Roger Federer received this award
maximum  number of
compared to others,

Which of the above statements are
correct?

times

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3
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1. The official
mott
is A New World?‘ PO e Olympics

2. Sport  Climy
ing,
Skateboarding .

Baseball
Olympics,

Surfing,

v Karate g4
are included ip this

Which of the above state i
bioss ments is/are

(@) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

10. Consider the following statements in

respect of the ICC World Test
Championship :

1. The finalists were decided by the
number of matches they won.

2. New Zealand was ranked ahead
of England because it won more
matches than England.

Which of the above statements is/are
correct? ‘

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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Slerence Indj
. a, i
to the City’ is an agrc:eed fi llOng tementg . consider .
1. ‘Right to t and the UN-Habitat 1. When ,
n righ . a Prisoner
hum.a the commitments made 2 Sufficiey, . Makes gyt
monitors ntry in this regard. chied o 0% Parole canngy 1,
by each cou . it b uch Prisoner becauge
.+t to the City gives every nghtCCo °S a matter of his/her
dy =8 pant of the city the right 1t° 5 '
ccu . i .
:eclaim public SPAcED SH IPHEES S:-?te Sovernm "8 have their own
participation in the city. SONers Release on, Parole Rujeq
ioht to the City’ means that thlc Which of the statementg given abgye
> ‘ngt cannot deny any public 18/are Correct?
e : it y
f::vice or facility tl'c: 'the @ 1 only
—e % ies in the city.
unauthorized colonies in the city () 2 aiily
Which of the statements given above (c) Both 1 and 2
is/are correct? . (d) Neither 1 nor 2
1 only
(a) 14. At the nationga] level, which ministry jg
(b) 3 only the nodal 4gency to ensure effective
c) 1 and 2 implementation of the Scheduleq Tribes
43 and Other Traditional Forest Dwellers
(d) 2 an (Recognition of Forest Rights) Act,
20067
12. With reference to India, consider the o ,
v following statements - (a) Ministry of Envu'onment, Forest
ollowin ’ :
and Climate Change
1.  Judicial custody means an accused (b)
is in the custody of the concerned

Ministry of Panchayati Raj
magistrate and such accused is

(c) Ministry of Rural Development
ocked up in police station, not (d) Ministry of Tribal Affairs
in jail.

2. During judicial custody, the police 15. A legislation which confers on the
officer in charge of the case is not executive or administrative authority
allowed to interrogate the suspect an unguided and uncontrolled
without the approval of the court,

Which of the sta

discretionary power in the matter of
is/are correct?

application of law violates which one

of the following Articles of the
‘ Constitution of India?
(@) 1 only (a) Article 14
Sy (b) Article 28
) Both 1 ang ¢ (c) Article 32
9 Neither 1 nor 5 (d) Article 44
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